T3 1FEE4R 1 REBRIRBAREFDOABIRRICONT

T3 1FED4 A 1REZBCBVWVTAELROL EEDR TEHTYT. AEEN 1 BOBERFRNEEBADBEERDEFIOTIE
NFAESETOEEEFT, oo AFFENRVBHOIIBSRICOVW TR HEERULSETWILEEFT, 88 RCEEE. BRIRALICLD

RELEY,

ABIRRIERIFEEICIOTEBLEIINT, BELUTIETZEL.
KXEEAROWVTE A3 15 1H 1 7HERERDET

1 BOJ{REM
B4 o 184 2 3% 4 5
2 SE A 10 5 3 6 7 3
Ei=t 25 41 30 25 33 E /N
" _ SE A 12 12 0 2 0 4
R as = 39 20 31 TLERL
DD SE A 13 9 6 3 1 0
= 38 38 20 20 JE5
. sei 14 16 6 3 1 0
= 25 38 35 30 JE5
Har SE A 12 13 5 10 6 2
= 30 20 35 27 AR | REEEL
JUART SE A 10 8 0 4 0 0
Ei=t 40 40 40
cx SE A 20 15 5 2 0 0
Ei=t 26 40 40 36
HEOD SE A 9 9 6 6 0 0
Ei=t 32 40 41 29
- SE A 13 7 0 3 0 1
= 25 20 23 TLERL
e B 13 7 3 a 1 0
= 32 36 35 39 EWNT
ED BEEAE| 17 5 10 1 0 0
= 27 39 20 EYNT
e s s 15 9 6 0 0 0
Ei=t 40 41 42
. =T 0 0 9
= TLERL
o3 SEAH 9 5 3 1 0 0
= 20 20 22 EYNT
SANTENSRR SE A 9 3 2 2 0 0
Ei=t 40 41 43 36
s =% 6 5 1 2 0 0
e 20 a1 JEAR 22
BETS SEAH 10 6 4 7 1 0
e 20 a1 3 20 EYNT
R =y 3 0
e 20 20
UDtoe =& 8 5 1 2 0 0
e 20 a1 JEAR 36
BRRECLEE £ 6 9 4
Ei=t 34 35 41
. =S 1 2
= 36 JEAR 35
- B 8 0 0 1 0
pETN=h = 20 EmE—y




